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Y 1 2 12,806,930 12,961,410 A 154,480
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e 2w AR 2,383,395 1,494,839 888,556

A 3 R R E A AR 56,245,499 57,378,467 A 1,132,968

g 4 RN 50,025,338 57,103,036 A 7,077,698

I 5 FIIUR 3,830,448 4,170,760 A 340,312

B\ [ serremit 0 0 0

Hh 7 AEAINE 0 0 0

8 JrERIR IR 229,467,023 253,697,289 A 24,230,266

9 [EFEfEALT— A F LS 22,429,673 22,597,168 A 167,495

10 DM DULEE 2,800,602 3,052,830 A 252,228

P AIEBUES F (1) 379,988,908 412,455,799 A 32,466,891

=21 AHE 304,478,040 339,209,775 A 34,731,735

B 2 R 39,599,779 49,726,493 A 10,126,714

3 FHE 16,782,395 18,680,371 A 1,897,976

4 R ENCE R ER 0 0 0

5 B EEEEM 0 0 0

6 BhAke% A 6,125,809 6,530,200 A 404,391

7 IS A 3,891,990 4,147,439 A 255,449

8 [ A B4 Rt 4 M A 0 A 360,208 360,208

9 Zofho% 5,862,445 21,176 5,841,269

e RIEEE AR (2) 376,640,562 417,955,246 A 41,314,684

P —ERIEEIEIERH (3) = (1) — (2) 3,348,346 A 5,499,447 8,847,793

?L”é 1 SZHCR B Y &0 2% 332,585 332,636 A 51

. 2 A MFEAFEAN 5 0 0 0
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4% T RGBS E (4) 332,585 332,636 A 51

ﬁﬁf 1 KHFIE 0 0 0

%) 2 AMFEARFEGE 0 0 0

W s s 0 0 0

4 20OV —E AIEEN I E 0 0 0

S —e RGBS A (5) 0 0 0

P —E RGBS I EAH6)=(4)-(5) 332,585 332,636 A 51

R R ZEAA (T) = (3) + (6) 3,680,931 A 5,166,811 8,847,742
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ol (4 sormEeRUiiGs 0 0 0
5 HERXSHIMALSINLE 0 0 0
FERII AR T (8) 0 0 0
|1 AR 0 0 0
T e 0 0 0
3 BEEETHE L 32 5 27
4 IR A B 4 S AR R ST 4 U B 0 0 0
5 [ B 4B S R R N A R N A 0 0 0

6 FEXOMMALEH 0
el R (9) 32 5 27
RERI TR ZE4E (10) = (8) - (9) A 32 A5 A 27
S HTE B RIRGEAE (11) = (7) +(10) 3,680,899 A 5,166,816 8,847,715
;i; AT E A B HE R R4 (12) 2,046,969 451,155 1,595,814
7E BRI E B ICERA (13) = (11)+ (12) 5,727,868 A 4,715,661 10,443,529
i) FEARE T HA%E (14) 0 0 0
¢ T R (15) 0 0 0
= T OMDFENT 4B A (16) 9,966,349 16,762,630 A 6,796,281
f\ Z DO DFEL A FESLHE (17) 10,000,000 10,000,000 0
| R R B2 AR (18) = (13) +(14) + (15) + (16) — (17) 5,694,217 2,046,969 3,647,248




